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Problem quickname: 1454

L) Quick:

1454
Calculate the result.

a) 78.11 + 28 = 2.789642857143 b) 79.68 + 70 = 1.138285714286
c) 92.49 + 90 = 1.027666666667 d) 48.62 + 83 = 0.58578313253
e) 14.75 + 7 = 2.107142857143 f) 20.36 = 74 = 0.275135135135

g)

87.72 + 80 = 1.0965 h) 71.82 +4 =17.955
i) 91.39 + 70 = 1.305571428571 j) 52.95 + 54 = 0.980555555556

2)
Calculate the result.

a) 22.08 =16 = 1.38 b) 85.02 + 32 = 2.656875

c) 53.06 + 38 = 1.396315789474 d) 57.08 + 40 = 1.427

e) 28.03 + 24 = 1.167916666667 £) 99.05 + 13 = 7.619230769231
g) 27.05 + 29 = 0.93275862069 h) 57.08 + 31 = 1.841290322581
i) 42.01 + 30 = 1.400333333333 j) 77.03 + 34 = 2.265588235294

3)

Quick:
1454

Quick:
1454

Calculate the result.

a) 0.4 =5 =0.08 b) 0.9 + 85 = 0.010588235294

¢) 0.9 + 21 = 0.042857142857 d) 0.9 + 70 = 0.012857142857

e) 0.9 + 41 = 0.021951219512 £) 0.5 + 63 = 0.007936507937

g) 0. 2 80 = 0.0025 h) 0.7 + 58 = 0.012068965517 )0.9+9=0.1
i) 0.6 =8 = 0.075
4)

Quick:
1454

Calculate the result.

a) 0.46 ~ 2 = 0.23 b) 0.74 + 2 = 0.37 ¢) 0.34 + 4 = 0.085
d) 0.94 + 8 = 0.1175 e) 0.47 + 6 = 0.078333333333

£) 0.63 + 10 = 0.063 g) 0.74 = 7 = 0.105714285714

h) 0.48 = 9 = 0.053333333333 i) 0.89 + 4 = 0.2225

i) 0.41 = 9 = 0.045555555556

Good Luck!
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